





Q. Draw the c.cquc,nlml non-optimized basic 3.2-bit multiplication unit showing all the
Z details of: register sizes, shilters, sub-modules. and interconncects.
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@ Q. Using 4-bit binary numbets, multiply 210 X 310 showing all the detailed steps using the
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T T T
Initial values . 001() 0000 0010 0000 0000
1 10: 1 = Prad = Prod + Mcand 0011 0000 0010 0000 0010
2:_Shiftleft Multiplicand 0011 0000 0100 0000 0010
"3: Shift rlght Multipiier oo 0000 0100 0000 0010
2 10: 1 = Prod = Prod + Mcand 0001 0000 0100 0000 0110
[2: Shift left Multiplicand T 0001 0000 1000 0000 0110
3: Shift right Multiplier ) 0000 1000 0000 0110
3 1: 0 = no operation 0000 0000 1000 0000 0110
2: Shilt teft Multiplicand 0000 0003, 0000 0000 0110
3: Shift right Multiplier 00t | 0001 0000 0000 0110
4 1: 0 = no operation 0000 0001 0000 0000 0110
2: Shift left Multiplicand 0000 0010 0V00 0000 0110
3: Shilt right Multiplier 0000 0010 0000 0000 0110
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